Solution We have

x Xx+1 & , I
= =x@W-x+D)E-1) =x-x-D=x-x+1=1

Solution Note that in the third column, two entries are zero. So expanding along third
column (C,), we get

1 2 1 2
+0
4 1 -1 3
=4(-1-12)-0+0 =-52

Solution Expanding along R , we get

0 sinf -sino sin —sin & 0
-sinfB 0
=0 - sin o (0 - sin B cos o) — cos o (sin o sin § - 0)

=sinasin Pcosa—cosasinasin =0

A=0 —sin o —Ccos o

cosae 0 cosa —sinf

Solution By definition of minors and cofactors, we have
dy, sy
Minor of a, =M = =a,a. —a,d,

11 1 ay; a4y o Bow Bl < R -

- - 1+1 =

Cofactor of a,, = A = (-1)"' M =a,a,—a,a,
) a, dy
Minor of @, =M, = a.| = 4. —a,a,
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Cofactor of a,, = A, = (17" M, =(-1) (a,a,,~a a )=-a, a +a_.a,

Solution: Option (D) is correct.



